PREPARATION ASSIGNMENTS-1
Due Wednesday, January 14

1. A transmission line is operating at 100 MHz Z0= 30 [Ω], vp=2.5e8 [m/s], and 

    α=0.04 [Np/m]. Find the circuit parameters for the line. 
Due Thursday, January 15

1. For the following wave expressions, is the wave traveling or standing. If the wave is traveling what is the direction of propagation and the velocity? 

a) cos (314t+0.05z)

b) sin(50t)cos(20x)

c) sin(104t-10-4 z)

2. Find the time domain expressions for the following phasors (assume that ω = 10 [rad/sec]):
      a) 
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= -5ejπ/3   [V]
         b)  
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= (6+j8) [V]

      c)  
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= j7e-jπ/4   [A]
Due Wednesday, January 21

1. A 50 [Ω] lossless transmission line is terminated in a load with impedance
 ZL=(20-j40)[Ω]. The wavelength is 3 cm. Find the following:
a) The reflection coefficient at the load
b) The standing wave ratio (SWR) on the line

c) The position of the voltage maximum nearest the load

d) The position of the current maximum nearest the load
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